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Algebra 2
Unit 3 Polynomial Functions and Equations (Part One)

(1 point) A.SSE.A.2											
1.  Which of the following is NOT a factor of?
A. x-1
B. x-2
C. x+1
D. x+2

(2 points) A.SSE.A.2											
2. Nora believes that f(x)=x4-25 must have 4 roots because the degree of the polynomial is 4  However, she notes the graph of f(x) only intersect the x-axis at 2 points.  Explain how Nora can use factoring to find all 4 roots and why the graph has only 2 x-intercepts. 


(1 point) N-CN.C.9											
3.  If  is a factor of a polynomial , which of the following statements does NOT have to be true?
A. 
B. 
C. 5 is a root of 
D. 5 is a zero of 






(2 points) N.CN.C.9											
4.  What are all the roots of ?







(2 points) F.IF.C.7											
5.  Mark the x-intercepts of the polynomial  on the graph.


[image: ]

(1 point) A.APR.B.2											
6.  Divide.  
A. x3-3x
B. x3+3x
C. x3-2x2-3x
D. x3+2x2-3x

(2 points) F.IF.C.9											
7.  Marco wants to show that x3-y3=(x-y)(x2+xy+y2) is true for all values of x and y.  Show the steps he might use by applying the properties of equality to justify.



(1 point) N.CN.C.9										
8. The graph of a polynomial function has the following x-intercepts:  0, -1, -3, -6.  Which of these expressions represents such a function?
A. (x-1)(x-3)(x-6)
B. x(x+1)(x+3)(x+6)
C. (x+1)(3x+1)(6x+1)
D. 2x(x-1)(x-3)(x-6)




(1 point) F.IF.C.7											
9. What is the degree of the simplest polynomial with integer coefficients that has 2,2i,2+2i and as zeros.



(1 point) A.SSE.A.2											
10.  Completely factor 3m3+5m2+12m+20
A. (m2-4)(3m+5)
B. (m-2)2(3m+5)
C. (m2+4)(3m+5)
D. (m+2)(m-2)(3m+5)







(3 points) F.IF.C.7											
11. Given a polynomial function y=(x+2)(x-1)(x2-5).  
Part A
Describe the end behavior of the graph of this function. 


Part B
Evaluate the function for x=-2,-1,0,1,2 by making a table of values. 

	-2
	

	-1
	

	0
	

	1
	

	2
	




Part C
Graph the function.
[image: ]
(1 point) N-CN.C.9											
12.  What are the roots of x5-3x4+3x3-x2=0?
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